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CTET Paper 1 - 24 December (Memory Based)
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CTET Paper 1: CDP

How many primary laws of learning are given by Thorndike?
Ans: 3

Who views children as active builders of knowledge and little scientists who construct their own
theories of the world?
Ans: Jean Piaget

Socialization is
Ans: Adaptation of social norms

Which statement describes Piaget and Vygotsky’s views on language and thought?
Ans: According to Piaget, thought emerges first and according to Vygotsky, language has found
effect on thought

It is the first place where the socialization of a child starts.
Ans: Family

A child who reads ‘dog” as ‘god’, ‘bat’ as ‘tab’ suffers from
Ans: Dyslexia

Which is not a symptom of ADHD?
Ans: Stuttering

play an important role in the education of students.
Ans: Heredity and Environment

If a child does his homework only for praise, according to Kohlberg in which stage of moral
development the child lies?
Ans: Good Boy- Good Girl stage

Noam Chomsky is related to
Ans: LAD(language acquisition device)

| www.teachersadda.com www.sscadda.com www.bankersadda.com www.adda247.com


http://www.teachersadda.com/
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

0,11,

Q8.

Q1.

Q2.

Q3.

CTET Paper 1: Mathematics

A car covers 1512 km distance in 28 hours, find its average speed?
Ans: 54 km/hr

A packet of biscuit is in the shape of a cuboid. Its length, width and height is 12cm, 5cm and 3cm,
then find the volume of the biscuit packet?
Ans: 180 cm

How much will 136 marbles be divided equally among four people?
Ans: 34 marbles

Van Hiele’s levels refers to stages in the development of :
Ans: Geometrical Thinking

If the side of a square is doubled, then the area of the square:
Ans: Becomes 4 times

The ratio between the perimeter and the breadth of a rectangle is 5 : 1. If the aea of the rectangle is
216 cm?, what is the length of the rectangle?
Ans: 18 cm

Find the missing number:
2,3,58,13,7,34,55
Ans: 21

Mohan gives 1/3 toffee to someone, % to someone else, 1/6 to someone else, and 1/6 to someone
else, even after that 1 dozen of toffees are left, how many toffees did he have in the beginning? (
ans in dozen)

Ans: 12 dozen

CTET Paper 1: EVS

Which statement is correct about Jhoom cultivation?

Ans: [t is also known as slash and burn cultivation

It is mainly done in Nagaland, Meghalaya, Manipur, Assam
In it, land is only lightly dug, no deep ploughing is needed

Bronze is alloy of
Ans: Copper & Tin

Which of the tribe is largely found in Jharkhand?
Ans: Santhal
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Q4. Kannauj is famous for
Ans: Perfumes
Q5. Tiger can see times better than human at night.
Ans: Six times
Q6. Which states have coastlines on the Bay of Bengal?
Ans: West Bengal, Odisha, Andhra Pradesh, Tamil nadu
Q7. Water is earthen pot remains cool due to
Ans: Evaporation
Q8. Match the birds with their respective nests.
Ans: Koel - does not make its nest
Indian Robin - Makes its nest on the top of tree
Tailor Bird - Make its nest by weaving and stitching the leaves
Q9. In which state the meaning of ‘Torang’ is jungle?
Ans: Jharkhand
Q10. To develop critical thinking is the objectives of which of the following activities?
Ans: Source method
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